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CHEMISTRY Cool-off time : 15 Minutes

Maximum : 60 scores

General Instructions to Candidates :
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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering,

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 4 questions from 1 to S. Each carries 1 Score. 4x1=4)

1. Give an example for a Pseudo first order reaction.

2. The oxidation number of Manganese in KMnO, is

3. Name an ambidendate Ligand.

4. Which among the following will undergo Sy 2 reaction faster ?
(a) CH;-CH,-CH,C/ (b) CH,;-CHC/ -CH,4

(c) (CH,),CCI (d) CH,-CHC/-CH,~CH,

5. Name the product obtained when Toluene is treated with CrO,C/, in presence of CS,.

(a) Benzaldehyde (b) Benzoic acid
(c) Phenol (d) Chlorobenzene
Answer any eight questions from 6-15. Each carries 2 Scores. 8 x2=16)

6.  What type of deviation from Raoult’s Law is exhibited by a mixture of phenol and

aniline ? Justify your answer.

7. State Henry’s Law. Mention one application of Henry’s Law.

8.  Differentiate between primary and secondary cells. Give an example for each.
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1. ®alS 83N 6303AWA AINTVEIAIBTIHMBTIM 630) DBIAOVEMo af)$IB®))d:.

2. KMnO, -@3 moocncrﬂmﬂe)c@ B8l H06moalaun @RY6N.

3. 80)260aMH £lnIBUING Cald af)e)®)d:.

4. ©0% 6305)elalemmMAIRI3 S\ 2 (IBGTHM@TM CAUNBTIGE ANl CWROBMEY

aB@®26m ?
(a) CH;-CH,-CH,C/ (b) CH;-CHC/ - CH,
(c) (CH;),CCI (d) CH;-CHC/-CH,-CH,

5. esog)ailad CrO,Cl, m00f CS, &3 nvoamleuyosilad (a1a1dooilee)emioud ellaaamn

D@3 ]MMo aRB®) ?
(a) emidavocdallaana’ (b) esnIMBeILOVIE @RI
(c) aflemoud (d) egocooamindaiiad
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2 cmpod allow. 8x2=16)
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8. 86©Iadl, ©aVa9ddl HIVENGUB ®EZleNSs Al® P Vo af)$}®)d. BICIATIM]o 630)
939a006Mo Qflo M@ ).
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10.

11.

12.

13.

14.

15.

16.

Calculate the half life period of a first order reaction whose rate constant is 200 S~1.

Explain Lanthanoid contraction.

Write two Postulates of Werner’s Coordination theory.

State Zaitsev Rule.
(1)  What is the chemical composition of Lucas’ Reagent ? 1)
(i1)) What is Lucas’ Reagent used for ? 1)

Identify X and Y in the following equations :

CuwHCI!

(i) CHN,C/ — X+N, +CuC/ (1)

A

(i) CHsN,CI+H,0 — Y +N, +HCI (1)

What do you mean by denaturation of proteins ?

Answer any eight questions from 16-26. Each carries 3 Scores. (8 x3=24)

(1) How can we determine the Molar conductance at infinite dilution of acetic

acid ? 1)

(i1)) State the Law behind this. 2)
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14.

15.

16.
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(1) ene9au EREG:EI @ EITVAIEAIV af)aNIE ? (1)

(i) ene9IV EREBG:EIDM: Af)IHIM CAIMNE] DalcIUlleman) ? (1)

@08 6 %HIS)BNEHN AN BITV(EIAUBT M@ X, Y @@ladld: :

CuwHCI!

(i) CHN,C/ — X+N, +CuC/ (1)

A

(i) CHsN,CI+H,0 — Y +N, +HCI (1)

G(@195108 1VEMMIVOMEDANIB3 )T ?

16 2)®@3 26 A190W)BS 20333 aBO®BIENC 8 af)INOTIM DONODALI)d>.

3 cnpod allow. (8 x3=24)
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(i)  @lod afllarlenss Mo IO l69)d:. 2)
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17.

18.

19.

20.

21.

22.

(1)  Give the cell representation of Daniel cell. 1)

(i) The standard electrode potential for Daniel cell is 1.1 V. Calculate the Standard

Gibb’s energy for the reaction. 2)

Write three differences between order and molecularity.

Mention the three steps involved in the manufacture of Potassium dichromate.

(1) Define spectrochemical series. 1)

(i) Diagrammatically represent the crystal field splitting of d-orbitals in a

tetrahedral field. 2)
Explain the following :
(1)  Williamson synthesis (1%2)
(i) Kolbe’s Reaction (1)

Write the IUPAC names of the following compounds :

%

(i) CH;- ?— CH, - CH, (1)
OH

(i) CH;-0O-CH,—-CH, (1)

(ii1) Alcohols are soluble in water. Give reason. 1)
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17.

18.

19.

20.

21.

22.
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(1)
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CH,
|
(i) CH,-C- CH,-CH,

|
OH

(i) CH,-O-CH,-CH,

(1)) ©EROBNCOIV)MHUB RLICHNB LIVBNAN). BHIVEMo af)$I@) .
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23.

24.

25.

26.

27.

(1) Give atest to distinguish aldehydes from Ketones.
(1)) What is the reagent used in Clemmensen’s reduction ?

(iii) Describe Hell-Volhard-Zelinsky Reaction.

(1)
(1)
(1)

Identify the products X and Y in the following reactions. Also name these reactions.

i CO, HC/
Anhyd-AICL,

0]

C H
(ii) e ’ Y
Pd/BaSO,

(1)  Aniline is less basic than ammonia. Why ?

(1) Name two reagents used to convert Nitrobenzene to aniline.

(1)  What are polysaccharides ? Give two examples.

(i1) Name the products of Hydrolysis of sucrose.

Answer any four questions from 27-31. Each carries 4 Scores.

(1) Define colligative properties.

(1)) Mention four colligative properties.

(1%2)

(1%)

2)
(1)

2)
(1)

(4 x 4=16)

(1)
2)

(i) Which colligative property measurement is the best method for determining the

molecular mass of proteins ?
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23.

24.

25.

26.

27.

(i) ©R@WUIOOOW)DHe8 Heqoemadlad alanp calddidla] @pAlwomss Bo)

al@lB:H6Mo )91 1)
(i)  egadavend MleooRlHEMOTIM DalcIUTlE9M EREDHGIAR0 AB® ? (1)
(iii)  ©a0m3-c0100B8a0BW-H VLI (INIBTMo ANVEl!CB9)H>. (1)

21}010S OHS)OTNAHNAN PITV(INIBBHMEBB NS D@a|Metna0® X, Y agarial

AB®OEMAN B2 0. (AIAPI® EIAV(EIAIBTHMTHIO G Cald af)$)}®)d.

. CO, HC! 1
2 @ Anhyd AICL, (%)

i

C H,
i Cl Y 1%
) ©/ Pd/BaSO, (%)
(1) erdlelm @GreaImMIEENIVo HNUDTUVLGH@ GJOQUIEM. af)TN)6)B36NE ? 2)

(i) eemesocamiadallom  @pMelad @YHHIMW  DalCWIUEMAN e

@R ElHB0A HEBUD af) 9. 1)
(1)  GaIEITLIBHHHOWIBHUB Af)NIOEINT ? PNE BBIAODENO af)IB))d>. 2)
(i) ovewmomny  =elwalleRauemedim  allcwoaddemiod  e1demam

DT |IMEMBOS CalOIOPID) . 1)

27 2)®08 31 19088 ¢a 1083308 aBO@BIE 4 af) FPOTNM DONOOAYL)d>.

4 capod aflwo. (4 x4=16)
1) esoglenglal mEmwdnasBud af)aMIe LI ? (1)
(i) moeradoglenglal »IEMWANREIBUD af)$ ). 2)

(ii) eglmags ®mao@Ieove  MBgNVIeNMEIM  ERMEWILA0W

o Boglendlal M wadomo ag@aem ? (1)
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28, (i)

(i)

29, (i)

(i)

Write the cathode and anode reactions of H,-0, fuel cell.

What are the advantages of fuel cells over other cells ?

Which are the four types of structural isomerism exhibited by co-ordination

compounds ?

Give one example for each type of Isomerism.

30. Describe the following :

(i)

(i)

(111)

31 (i)

(i)

S-2225

Sandmeyers Reaction
Fittig Reaction

Wurtz-Fittig Reaction

Name the product obtained when ethanol is reacts with dilute NaOH. Write the

chemical equation for the above reaction.

What is the effect of substituents on the acidity of carboxylic acids ?
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28, (i)

(i)

29, (i)

(i)

H
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(i)
(it)
(iii)

31 (i)

(i)
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